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Figure S-4: Relative variances of cellular populations in a logistic environment. (a) and

(b) Typical trajectories of cell populations of the two phenotypes obtained from Gillespie

simulations. In (a) the initial state is n1(0) = 1, n2(0) = 0 and in (b) it is n1(0) = 0, n2(0) = 1.

The different colors of the curves represent trajectories from different runs. (c) The relative

variances for the initial numbers n1(0) = 1, n2(0) = 0 which corresponds to (a). After the

transients decay, the cross-colony variance goes to the steady state, zeros, in this case. (d)

The relative variances for the initial numbers n1(0) = 0, n2(1) = 0 which corresponds to (b).

After the transients decay, the cross-colony variance goes to the steady state, zeros, in this

case.
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